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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option/Fill in the blank:

1x7=7
w7 Testol AR SfEreal/ A 3E o[ T 3
ﬂ When using sign test, if two scores are
tied, then
‘Bz 29 9L TEICS M T RG GCF
A, (o8
(i) we count them
S sie e
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(i) we discard them
wifst 3w frd
(iii) it depends upon the scores
3@ )Y YOR eAFS T T
(iv) None of the above
@5RT OIS TR

4/'
If a Chi-square goodness of fit test has
6 categories and N=30, then the
correct number of degree of freedom is

1 B TR-Tl P AT 66 e ©ivl
2 O N =30 T, (ST FoF Adl 24
s

(i) 6

(i) 28

(iv) 29

Compared to parametric methods, the
non-parametric methods

PTG ET TS T-LbFYE ARSI
(i) are less accurate

3 A |
(i) are less efficient

N F
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(e)
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(iii) are computationally easier
STl ARS

' ﬁ:()l (i) and (iii) are correct but not (1)

(i) O (iii) T FE (i) T

If AB<££3—V(—B—), then the association

between two attributes A and B is
T AB'<L4-}V@ o, (0% Wl @4 A WF

B-3 WiT) 7¥E 27
@G O
0
(ii} positive
SQIFIE
(iii) symmetric
TS
(iv) negative
Al
ANOVA is a statistical method of

comparing the _ of several
populations. (Fill in the blank)

@35S AR won! SR TR
T4 AR oo (22 ANOVAI
; (AT A2 97 F9)
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)/ﬁ) Consider k independent samples each

contammg ny, Ny, ... , Nk items such that
n, +ng+..4n =n. In ANOVA; we use
F-distribution with degree of freedom
11 26 K1 oy efon<(q Afemra ny, g, .
B (NG AT, TS g + g+t =0 W
&37aR ANOVA -3 PR( F-3ITR g A TS
i) k-1, n-k

il k=1,.n-1.

(iii) k-n, n-k

(iv L= k: k_. 1

The ‘prorbability of type Il error when
=005 is

o= 0:05-7 Tt TS e W SRR
T T3

(i) 0025
(i) 005
(iii) 095

(iv) cannot be determined without
more information

i 02 A2 AR BfEed S TR

3 (Sem-3/CBCS) STAHG/RC/G 4

3 (Sem-3/CBCS) STAHG/RC/G 5

a4 Answer the .following questions briefly :
2x4=8
O IS e SIS fEl ¢

(@) Define type I and type Il errors with
examples.

aﬂa«%@ﬁwﬁ%«%m@mﬁ%
W—W\@Tﬁml

(b) Mention three basic pnncxples of design
of experiments.

ﬁwwﬁaﬁfﬁﬁwﬁﬁﬁmww;

(c) Explg1n sign test for symmetry.

e cFge 5% AR it =141

(d) Define association of attributes.
QO ITFEI ed |

Answer any three questions from the
following : 5x3=15

TS MARRSE ﬁmr@ﬁﬁr epi Tes 3= 3

(a) erte down all the conditions for the
validity of y2-test of goodness of fit.

 WPIETR (PO TR (Ra© IJ9TE (@R
X221 R TSR SEmd 79
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y/ In a large city A, 20% of a random
sample of 900 school children had

defective eye-sight. In other large city
B, 15% of random sample of 1600
children had the same defect. Write
down the required hypothesis ‘and
hence verify whether the. difference
between two proportions are significant.

G TBIed 528 A-S, 900 g-gae foege 20%
e efomia SIS wfe xfes g e
25 | S G4 5% B-, 1600 P CEACIAICCAN
15%arqfﬁwai%wﬁamwaﬁmcm
et’m@ﬂq@m%ﬂiwmwm
R FES] AR T :

/(9)‘ What do Yyou mean by Yates’
: correction ? Can we apply the same to
every 2 x 2 table even if no theoretical

cell frequency is 1€ss than 5?
4+1=5

St wefer 3 R gEmie 2 x 2 RS €2
@«ﬁwﬁmwﬁwﬁma’wmmﬁ@
JREES! 5-9 (F T FA?
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; })”’Given the frequency distribution —

-

f(x, 6):{1/9’ D<x<#

O otherwise
and that you are testing the null
hypothesis Hy : 8 =1 against H; : 6=2
by means of a single observed value of

% What would be the sizes of type I

and type II errors if you choose the
interval as follows? -

i) 0-55x

(i) 1<x<1.5
as the critical region

. qeaE] 3B weTs e frE wie —
f(x,9)={1/9’ OSJCS,H' ;

0, otherwise
qﬁrﬁ@m Hy,:6=1-3RC% H :0=2
7 TR B5al (R TS x-3 (FRE <ol (A
i Rl IR A9 (R S O i R
51 iR R 7' TR IR TS
A T2

() -0-5<x Vs

e 8o

i) 1<x<1-5 L o

TR oFg A
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(e) Fill in the blanks of the following table :

Source d.f. | S-um of squares Meﬁn squares F
B yemowa W e oy 2 Lr
Y 10 s e .
Error (@0) = - 10160 =
To£a1 ) 60 18225

Answer any three questions from the

s 10x3=30

: following :

woTe AR it fofib! ea Bes forall 8

\/Ldf Discuss the analysis. of randomiz
block design (RBD).

ed
10

qfoes e SRR SfecETeE [osd SiEn

41 .
-/‘] ¥y { fal,ﬁ-

-

fundamental lemma. 3 A4+

ﬁm—ﬁm@—acﬁfmaﬁiﬁmww

9|
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(c) @)

Two sample polls of votes for two
candidates A and B for a public
office are taken, one from among
the residents of rural areas. The
‘results are given in the following
table : ‘

D SRR ferer R e e A ey
B fifve sRata bt afem! (o oy
T | FATTAR S i fin
=

' Vote for (cef5) Total (J5)
Area (4TeRY) A | B |
Rural (1) | 620 380 1000
Urban (5%9) 550 450 1000
Total (§3) 1170 830 2000

e g \ p z n
‘b)) and prove Neyman-Pearso
(b)) State P =
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Examine whether the nature of the
area is related to voting preference
in the election. e

(Table value of ¥2 for 1.d.1. is 3-841)
AN T @ (OGR! GTETRIR
AR 89S {7 F7 & 93|

(227 OIS TR 1 oy w1 Frza
et s 3-841)
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(@)

In a series of houses actually
invaded by smallpox, 70% of the
inhabitants are attacked and 85%
h-a've been vaccinated. What is the
lowest percentage of the vaccinated
that must have been attacked ?4

7 SR I OIS Ry WP 70%
SR I (202 A 85% SR
aforaes o wlRez) ofere oz
e e WoIe SRPT WEFT (TR
Tfeedt |

Write down the hypothesis that is

}/(e) An insurance agent has claimed that

the average age of policy holder who

insure through him is less than the

average for all agents which is 305

years. A random sample of 100 policy

holders who had insured through him
- gave the following age dis.tribution !

10
G I G W wE@ @ (O€T 79 Tt
T (30-5 I=9)-©iF 9| G5} 100 & &izsg

| , i Reweet SR wrers e wfRace Sy
U tested in completely randomised H ?ﬁ%’ T S Be ﬁ?ﬂ‘ ki
design (CRD). Hence write down Age at last birthday : 16-20 21-25 26-30 31-35 3649
the AOV table. i (i )
ﬂ'“'?in{ 'QTT%-W mlﬁ%m | No. of persons el 22 20 30 16
imate the missing value in case Calcualte the arithmatic mean and -
(i) OE:tér;; 5 standard deviation of this distribution
, aa Frds and use these values to test his claim
?%Cfﬁg %@Tﬁ at the 5% level of significance.

[You are given that Z(1-65) = 0-95]
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FGACHR AT W T T [{oom Sferedl
GF B T TR TR I GES G W
5% WdFol TF© AT |
[ = =it Z (1+65) = 095 ]
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